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INTERNATIONAL INDIAN SCHOOL BURAIDAH 

Worksheet for the Academic Year 2024-25 

Chapter#3 Subtraction within 20 

Name: _______________________        Class 1(   )         Date: ________ 

❖ Subtraction is when something is taken away. 

❖ The symbol of subtraction is ‘__’ (Minus). 

❖ When we subtract 1 from a number, the answer is the number 

just before. 

4   -   1   = 3                 1 7   -   1  = 16              12  -   1  =   11 

❖ When we subtract zero from a number, the answer is the 

number itself. 

7   -   0 =   7                  13   -   0 =   13              19 -  0   =  19 

❖ When we subtract a number from itself, the answer is always 

zero. 

5   -   5   =   0                   18   -   18  =  0                 10  -   10   = 0 

 

I. Subtract the following numbers using number line. 

 

 

a)  5     -   4    =   ___________ 

b)  10   -   2   =   ____________ 

c) 18   -    4   =   ____________ 

d) 13   -    5   =   ____________ 

e) 15   -    8   = _____________ 
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II. Write the related facts for each fact family. 

 

 

 

 

 

                                               4   +    5    =   _____ 

                                            5  +   4   =    ______                                           3  +   2  =   ____ 

                                           9   -   4    =    ______  2  +   3  =  ____ 

                                           9  -   5     =    _____   5  -  3   =  _____ 

   5  - 2 =  ____   

III. Fill in the blanks. 

a) 13   -   13   =   ______ 

b)  8   -    1  =  _______ 

c) 1 less than 6 is     =  _______ 

d) 1 less than 12 is   =  _______ 

e) Take away 3 from 6, we get _________. 

f) Take away 2 from 3, we get _________ 

 

 

 

IV. Subtract with the help of dots. 
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b.  

     

     

 

 

c.  

     

     

                                                                                                                    

V. Story sums:                                 

a) There are 9 balloons.                                                   

 3 balloons burst.  

How many balloons are left? 

                                                            

      

  ANS:     ____________ BALLOONS.                         

 

b) 19 people in the market.       

     9 go home.  

     How many people are in the 

     Market now ?  

 

ANS: _____________ PEOPLE. 

 

T O 

1 2 

 6 

    

T O 

1 7 

 9 

    

T O 

  

  

  

T O 

  

  

  

 

_ 

_ 

 


